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TEST ONE

PART 1 WRITING (45 MIN. ]

SECTION A COMPOSITION [35 MIN. ]

The modern era is said to be marked by rapid development and
progress . Therefore some people believe competition should be laid as

the main theme , leaving little room for cooperation. What is your

oPinioWyrite on ANSWER SHEET ONE a composition of 150
words on the following topic :
COMPETITION AND COOPERATION

You are to write in three paragraphs .

In the first paragraph , state vour point of view .

In the second paragraph, give one or two reasons to support
your point of view .

In the last paragraph , bring what you have written to a natural .
conclusion .

Marks will be awarded for content, organization, grammar
and appropriacy . '
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Failure to follow the instructions may resudt in a loss of marks .
SECTION B NOTE - WRITING (10 MIN. ]

Write on ANSWER SHEET ONE a note of about 50 - 60
words based on the following situation :

You are Nick. You had promised to go to Mike’ s party and
take your CD discs to him . But for some reason you didn’ t make it .
Write a note to him, apologizing and explaining why you faded to

keep your promise .
Marks will be awarded for content, organization, grammar

and appropriacy .

PART [ DICTATION (15 MIN. ]

Listen to the following passage . Altogether the passage will be
read to you four times. During the first reading , which will be read
at normal speed , listen and try to understand the meaning . For the
second and third readings , the passage will be read sentence by sen-
tence, or perhaps phrase by phrase, with intervals of 15 seconds .
The last reading will be read at normal speed again and during this
time you should check your work . You will then be given 2 minutes to

check through your work once more .
Please write the whole passage on ANSWER SHEET TWO .
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PART [[ LISTENING COMPREHENSION (20 MIN. ]

In Sections A, B and C you will hear everything once only .
Listen carefully and then answer the questions that follow . Mark the
correct answer to each question on your Answer Sheet .

SECTION A STATEMENT

In this section you will hear eight statements. At the end of
each statement you will be given 10 seconds to answer each of the fol-
lowing eight questions .

1. What does the speaker imply?
A. He didn’t finish the exercises yesterday.
B. The exercises were handed in yesterday.
C. He knew the exercises should be handed in today.
D. He doesn’t need to hand in the exercises today.
2. What does the speaker imply?
A. A detective unit is investigating the situation.
B. The heater needs to be repaired.
C. Will you knit me some knee socks?
D. We fix and eat dinner in the basement.
3. What does the statement imply?

T T T TR TN LY T) T3 T R —

A. Fiona worked in graduate school.
. Fiona finished graduate school quickly.

@:

B
C. Right after graduate school, Fiona started to work.
D. Right after work, Fiona went to graduate school .
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4. What does the speaker want to know?

(9}

A.
B.
C.
D.

Do vou have a good view, Joan?
Can you show me where Joan is7
Are you watching Joan?

May I have this seat, Joan?

. He was late because =~
A.
B.
C.
D.
. What does the speaker say about the answer?
A.

his alarm didn’t go off
he stopped to eat teast and jam
his car broke down

traffic was too heavy

It’ s difficult.

. It’s very clear.

B
C.
D.

It’ s subtle.

It’s too easv.

. What does the speaker mean?
A.
B.
C.
D.
. What does the statement mean?
A.

Someone needs high protein.

We need world peace.
We need rice of high nutrition.

We need someone to protect peace.

Mary wanted to be alone.

B. Mary hoped to see Jack.
C.
D. Jack interrupted Mary’s sleep.

Jack broke Mary’s heart.
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SECTION B CONVERSATION

two speakers . At the end of each conwersation you will be given 10

In this section , you will hear eight short conversations between

seconds to answer each of the following eight questions .

9.

10.

11.

12.

13.

What does the man imply?
A. He would like her to buy all they need for the meeting.
B. He would do all he could to recall the meeting.
C. He definitely wants to know about the meeting.
D. He agrees to let her decide about the next meeting.
What are the speakers discussing?
A. The medicine the man has.
B. The places they would like to go about.
C. The man’s health.
D. A new medicine for the flu.
What does the women imply?
A. The materials being discussed should be kept upstairs.
B. She’d like to end the meeting early.
C. The subject deserves more discussion.
D. She didn’t mean to talk about it at the end of the meeting.
What do we leamn about the man?
A. He'll need to sleep for three or four hours.
B. He’s been wide awake for three or four hours.
C. He’ll buy three or four coffee cups.
D. He’ll need more than one cup of coffee.

Mr. Gallant is probably a

B ROk B B B0 B B B DK B K DK BIE DR B B E B DO B L DO DO B DO DA DO DT DO D
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A. woodsman B. carpenter
C. locksmith D. plumber

14. This conversation probably takes place
A. in a bookstore B. at a booking office

C. in a railway station  D. in a post office
15. What does tic man mean?

A. He hasn’t seen a better one.

B. The opera wasn’t too bad.

C. The opera was worse than he had expected.

D. He never felt worse.
16. What does the man mean?

A. The woman can make more money.

B. That’s surprising news.

C. He wants to intimidate the woman.

D. What will the tuition be?

SECTION C NEWS BROADCAST
Question 17 is based on the following news. At the end of the
news item , you will be given 10 seconds to answer the question .

Now listen to the news .
17. The French police arrested a man because

A. he was instructed over the phone to plant a bomb in Lille
B. he has planted a bomb in Lille

C. he is going to plant a bomb in Lille

D. he instructed others to plant a bomb in Lille

Questions 18 to 20 are based on the following news . At the end
-6 -
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of the news item, you will be given 30 seconds to answer the ques-

tons .

18.

19.

20.

Now listen to the news .
Who sponsored the conference on population?

A. The United Nations.

B. Cairo.

C. The World Health Organization.

D. The World Bank.

The current rate of annual increase in the world population is
about .

A. 5.7 million B. 9 million

C. 20 million D. 90 million

Which of the following concerning the document is NOT true?
A. The document will win support from the delegates.

B. The document will be completed after the conference.

C. The document will cover the next two decades.

D. The document will serve as a guideline.

Questions 21 and 22 are based on the following news. At the

end of the news item, you will be given 30 seconds to answer the two

questions .

21.

Now listen to the news .
According to the news item the volcano had been dormant for

about
A. 45 vears B. 60 years
C. 30 years D. 200 years

hi?iﬁ R T Ty Yy Ty T
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22. As one of the world’ s most active volcanic zones, Kamchatka is
close to . _
A. the Arctic Ocean B. the Pacific Ocean
C. the Atlantic Ocean D. the Black Sea

Questions 23 to 25 are based on the following news . At the end
of the news item, you will be given 30 seconds to answer the ques-
tions .

Now listen to the news .
23. The response of the Clinton Administration to the result of the

referendum was
A. that of complete indifference
B. that of strong objection
C. not directly expressed
D. that of deep regret
24. 1f Quebec was separated from Canada, the two pacts with US
A. should be discussed again
B. should be supplemented
C. should remain effective
D. should be abolished
25. The US border with Canada is the  in the world.
A longest coastal border

N B. longest defended border

¥ C. longest undefended border
D. longest undefined border

- 8 -
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PART N CLOZE (15 MIN. ]

Decide which of the choices given below would correctly complete
the passage if inserted in the corresponding blanks . Mark the correct

choice for each blank on your answer sheet .

We are living in a period of 26 population growth. In the
past, it .27  thousands of years for the world’ s population to
~ 28  in size. But today there are more people having families and
29  deaths from diseases. _ 30, the population doubles in
only thins'—ﬂve vears. A(n) _ 31  supply of food is only one of
the human needs that must be considered. Overcrowding has a high-
ly undesirable 32 life. For example, if every available bit of
land 33 for producing food, it would be verv difficult to
34 proper housing for people. 35 |, education would be se-
verely 36, as would health care and recreation. For these
_;57__, more governments are helping families to understand the
problems that are a part of 38  population. They give “family
planning” advice to families that 39  it. Such families can plan
to have the number of children they want, at times when they are

best able to _ 40 their children and give them a good start in life.

26. A.various B. glorious C. enormous D. serious
27. A.spent B. took C. cost D. consumed §
28. A.rise B. increase C. improve D. double

29. A.lttle B.less C.few D. fewer

-9 -
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30. A.Asamle B.Asaresult C.By comparison D.In addition
31. A.wealthy B. adequate C.excessive  D.steady

32. A.result from B.affect on C.result in D. effect on
33. A.used B. were used C.had used - D.is used
34. A.build up B.setup C.build D. provide
35. A.Therefore B.Otherwise C.Similarly D. Thus

36. A.ruined B. limited C. damaged D. destroyed
37. A.causes B.arguments  C.reasons D. viewpoints
38. A.excessive B.various C. heavy D. great

39. A.reserve B. provide C. acquire D. request
40. A.care in B.care about C. care for D. care with

PART V GRAMMAR & VOCABULARY [15 MIN. ]

There are twenty-five sentences in this section. Beneath each
sentence there are four words or phrases marked A, B, C and D .
Choose one word or phrase that correctly completes the sentence .

Mark your answers on your ANSWER SHEET .

41. The town is famous for its _ bridge.
A. unique grey ancient stone
B. grey unique ancient stone
C. unique ancient grey stone

D. ancient grey unique stone

. I know you’ ve no acquaintances here yet. But _ Mrs.

Chambers called just now.
. 10 -



